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MARK SCHEME — GCSE BENGALI — READING - SPECIMEN

Mark schemes are prepared by the Lead Assessment Writer and considered, together with the
relevant questions, by a panel of subject teachers. This mark scheme includes any amendments
made at the standardisation events which all associates participate in and is the scheme which was
used by them in this examination. The standardisation process ensures that the mark scheme
covers the students’ responses to questions and that every associate understands and applies it in
the same correct way. As preparation for standardisation each associate analyses a number of
students’ scripts. Alternative answers not already covered by the mark scheme are discussed and
legislated for. If, after the standardisation process, associates encounter unusual answers which
have not been raised they are required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed
and expanded on the basis of students’ reactions to a particular paper. Assumptions about future
mark schemes on the basis of one year’'s document should be avoided; whilst the guiding principles
of assessment remain constant, details will change, depending on the content of a particular
examination paper.

Further copies of this mark scheme are available from aqga.org.uk
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Qu Accept Mark
01.1 |30 1
01.2 | 45 1
01.3 | 25 1
Qu Key idea Accept Reject Mark
01.4 | (To) build a career Improve life 1
Qu Key idea Accept Reject Mark
02.1 A 1
022 | C 1
02.3 | (To) gain work experience (To) get experience of finding a job pocket money 1
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Qu Key idea Accept Reject Mark
Problem _ . ,
051 Couldn’t watch tv / nothing to watch =1 TV not working Mobile not working ,
Reason Network not working No charger
(There was) network problem =1
Problem . o
Reckless driving = 1 Careless driving Slow driving
03.2 2
Re_ason _ _ _ The road was rough / bumpy | He (driver) felt sick
Driver was careless / did not follow instructions =1
Problem o (Noise of) the traffic was Hotel was noisy
They could not sleep due to heavy traffic noise =1 disturbing
03.3 | Reason _ 2
Booking was not right / changed / messed up / They did not get the (They were given) a room There was a party
room they reserved =1 next to the road
Qu Key idea Accept Reject Mark
04.1 She doesn’t care about this not interested / concerned Cautious 1
04.2 Angry / shocked People like he( cause harm / Jealous 1
pollute the environment
04.3 Take little steps / actions Measures (at home) 1
Qu Accept Mark
05.1 B, D (in any order) 2
05.2 B, C (in any order) 2
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Qu Accept Mark
06.1 A 1
06.2 B 1
06.3 C 1
06.4 C 1
06.5 C 1
Qu Accept Mark
07.1 A+B 1
07.2 B 1
07.3 A 1
Qu Key idea Accept Reject Mark
08.1 (He) fell in love (with Lucy) Loved Lucy He thought of her as a friend 1
08.2 | (She) thought of him (Sabbir) as a friend Treated him as a friend 'S-%‘ﬁd him instantly / at first 1
08.3 For higher studies / doing a degree course Studying in a university To stay with parents 1
08.4 Traditional Bengali wedding Following Bengali customs Traditional wedding 1

(no mention of Bengali)

May not see her friends /
8.5 She may not see / visit her parents often She would be away from her parents | can visit Devon / her parents 1
frequently
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Qu Key idea Accept Reject Mark
9.1 | S O T AR @G5 ST /1, FIHFIG FCACR A (A 1
The following two or similar
o ) ST S S B TS ,
. ° ;i‘ﬂsﬂ%&l$§t\9: z
L CRICE PIET (R P AT N T e R A
o (FRTSTE T FA IV = 1
The following or similar S S
9.3 - S—— SR e . Sitae . 1
The following two or similar wHe GF T AT TS (=T (AT
9.4 o U qRF FCeCE AR =1 2
o WCAICA AT (TG T = 1 T e e PICE 3 (T
Qu Accept Mark
10 B, E, A, F (must be in this order) 4
Qu Accept Reject Mark
111 | TIORAR IR A T@1om 93 0T 1
11.2 | GTIMGR 7Y =8 'S 1
11.3 | (OIS e 219 IR =R (BT IR ST / o =0 A& 1
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Qu Key idea Accept Reject Mark
12.1 C 1
12.2 A 1
Qu Accept Mark
Any three from the following or similar

= TSl I fogeTr

RS (S AT 6 @eitst
13.1 = AR OB I TSl 3

= NS ol (PIesT Zeete ee) fow aest =
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Qu Accept Reject Mark
S IHR MR TR My friends / mates often go 1
Bl R[aE UL
.' 0 iz | to a big field next to (my) house Park / public garden 1
FR ETAT AN TSR, | because we can run / jog (there). Play 1
?@T{ AT Rae 2@ It has annoyed some homeless
ez AP LR people / beggars 1
ST AT GeTI<RIa in the area. 1
14
ST I o We would like / love to / be able to
) T e bR | give our time 1
G ARTT FAIE G5 to help them. 1
. However, | will not have time /
T U2 20O I TS AN (73 | | won't be free / available right now 1
/ immediately
FRer Sfy oI ffvg | because | am taking / sitting my Studying / doing homework 1

exams.
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